Gliceria Godini On minimal points

Commentationes Mathematicae Universitatis Carolinae, Vol. 21 (1980), No. 3, 407--419

Persistent URL: http://dml.cz/dmlcz/106008

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1980

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

COMMENTATIONES MATHEMATICAE UNIVERSITATIS CAROLINAE

21,3 (1980)

ON MINIMAL POINTS G. GODINI

Abstract: We extend the notion of minimal point with respect to a set in a normed linear space X studied by B. Beauzany and B. Maurey. Using this new notion we obtain a necessary and sufficient condition for the existence of a norm one linear projection of a smooth space X onto a closed subspace Y c X, as well as a characterization of a strictly convex space.

Key words: Minimal point, strictly convex space, smooth space, norm one linear projection.

Classification: Primary 46B99 Secondary 41A65

Let X be a real normed linear space and Y a linear subspace of X. We assign to each nonempty subset M of Y, a subset $M_{Y,X}$ of X in the following way: $x \in M_{Y,X}$ if $x \in X$ and there exists no $y \in Y$, $y \neq x$ such that

∥y-m∥ ≟ ∥x-m∥ for all m∈M

When X is a normed linear space, for $x_0 \in X$ and $r \ge 0$, we denote

 $B_{X}(x_{0},r) = \{x \in X: ||x-x_{0}|| \leq r \}$

Then clearly $x \in M_{Y,X}$ if and only if the set

mem^Bx^{(m, ∦}x-m[∥])∩Y

is either empty or the singletion x.

- 407 -

If X = Y, $M \subset X$, then the set $M_{X,X}$ is nothing else than the <u>set of minimal points with respect to</u> M studied by B. Beauzamy and B. Maurey in [1],[2], and denoted there by min M.

In Remark 1 below we extend for $M_{Y,X}$ some elementary properties of min M given in [2], the proofs being similar and simple.

<u>Remark 1</u>. a) For each MCY and each real number Λ we have $(\lambda M)_{Y,X} = \lambda M_{Y,X}$.

b) For each MCY and each y Y we have $(M+y)_{Y,X} = M_{Y,X}+y$.

c) If $M \subset L \subset Y$ then we have $M \subset M_{Y,X} \subset L_{Y,X}$. If M is a dense subset of L, then $M_{Y,X} = L_{Y,X}$.

d) If M is a bounded subset of Y, then $M_{Y,X}$ is a bounded subset of X.

Some simple connections between $M_{Y,Y}$ and $M_{Y,X}$, or $M_{X,X}$ and $M_{Y,X}$ are collected in the next remark, the proofs being straightforward.

Remark 2. We have for each McY:

$$M_{Y,Y} = M_{Y,X} \cap Y$$

(2) M_{X,X} C M_{Y,X}

The inclusions $M_{Y,Y} \subset M_{Y,X}$ and $M_{X,X} \subset M_{Y,X}$ are strictly in general as the following example shows.

<u>Example</u>. Let $X = \ell^{\infty}$, the Banach space of all real bounded sequences endowed with the usual norm and $Y = c_0$, the closed linear subspace of X, of all sequences converging to zero. For each n=1,2,..., let $y_n = (\eta_{1n}, \eta_{2n}, ...$

- 408 -

 $\dots, \eta_{nn}, \dots) \in \mathbb{Y}, \text{ where } \eta_{in} = 0 \text{ for } i \neq n \text{ and } \eta_{nn} = 2. \text{ Let } \\ \mathbb{M} = \{y_{2n}: n=1,2,\dots; \zeta \in \mathbb{Y}. \text{ Then } x=(0,1,0,1,\dots) \in \mathbb{M}_{\mathbb{Y},\mathbb{X}}. \text{ Indeed, } \\ \text{let } y=(\eta_1,\dots,\eta_n,\dots) \in \mathbb{Y} \text{ and let } n_0 \text{ be such that } |\eta_n| < 1 \\ \text{for } n > n_0. \text{ Then for } n > \frac{1}{2} n_0 \text{ we have } ||y-y_{2n}|| \ge |2 - \eta_{2n}| > 1 = \\ = ||x-y_{2n}||, \text{ whence } x \in \mathbb{M}_{\mathbb{Y},\mathbb{X}}. \text{ Since } x \notin \mathbb{Y}, \mathbb{M}_{\mathbb{Y},\mathbb{Y}} \text{ is strictly included in } \\ \text{have } ||\overline{x}-y_{2n}|| = 1 = ||x-y_{2n}|| \text{ for each } n=1,2,\dots. \text{ Therefore } \\ \mathbb{M}_{\mathbb{X},\mathbb{X}} \text{ is strictly included in } \mathbb{M}_{\mathbb{Y},\mathbb{X}}. \end{aligned}$

Clearly, when $M = \{m\}, m \in Y$, we always have $M_{Y,Y} = M_{X,X} = M_{Y,X} = M$. When $M = \{m_1, m_2\}, m_1, m_2 \in Y, m_1 \neq m_2$ these equalities do not all hold generally, as the next result shows (see also Remark 3 below).

We recall (see e.g., [3]) that a normed linear space X is called strictly convex if for each $x_1, x_2 \in X$, $x_1 \neq x_2$, $\| x_1 \| = \| x_2 \| = 1$ we have $\| \frac{x_1 + x_2}{2} \| < 1$.

In Proposition 3 of [2] it was proved that the normed linear space X is strictly convex if and only if for each $m_1, m_2 \in X, m_1 \neq m_2$, the points of the segment $[m_1, m_2] =$ $= \{\lambda m_1 + (1 - \lambda)m_2 : 0 \le \lambda \le 1\}$ are minimal with respect to M = $= \{m_1, m_2\}$. The following result gives also informations on min $\{m_1, m_2\}$ in arbitrary normed linear spaces.

Let us denote by ex $B_Y(0,1)$ the set of the extreme points of $B_Y(0,1)$ (i.e., $y \in ex B_Y(0,1)$, if $y \in Y$, ||y|| = 1and the relations $y = \frac{y_1 + y_2}{2}$, $y_1, y_2 \in B_Y(0,1)$ imply $y_1 = y_2 = y_2$.

<u>Theorem 1</u>. Let X be a normed linear space, Y a linear subspace of X and $M = \{m_1, m_2\}, m_1, m_2 \in Y, m_1 \neq m_2$. Then

(3) $M_{Y,Y} = M_{Y,X} = M \text{ or } L_{m_1,m_2} 1$

- 409 -

Moreover, $M_{Y,X} = [m_1, m_2]$ if and only if $\frac{m_1 - m_2}{\|m_1 - m_2\|} \in \epsilon$ $\epsilon \in B_{Y}(0,1)$.

<u>Proof</u>. Let $M = \{m_1, m_2\}, m_1, m_2 \in Y, m_1 + m_2$. We show first that $M_{Y,Y} = M_{Y,X}$. Let $x \in X \setminus Y$ and for $y \in Y$ defined by

(4)
$$y = \frac{\|x - m_1\|}{\|x - m_1\| + \|x - m_2\|} m_2 + \frac{\|x - m_2\|}{\|x - m_1\| + \|x - m_2\|} m_1$$

it is easy to show that

$$\|y-m_i\| \le \|x-m_i\|$$
 (i=1,2)

and so $x \notin M_{Y,X}$. By Remark 2, formula (1) we obtain the first equality in (3).

We claim now that $M_{Y,X}$ is either M or the segment $[m_1,m_2]$. Since $M \subset M_{Y,X}$, assuming $M_{Y,X} \neq M$, there exists $x_0 \in M_{Y,X}$, $x_0 \neq m_i$, i=1,2. Let y be defined as in (4) replacing x by x_0 . Then $\|y-m_i\| \leq \|x_0-m_i\|$, i=1,2, and since $x_0 \in M_{Y,X}$ it follows $x_0 = y$ and so

(5)
$$\mathbf{x}_{o} = \lambda_{o} \mathbf{m}_{1} + (1 - \lambda_{o}) \mathbf{m}_{2}$$

for $\lambda_o = \frac{\|\mathbf{x}_o - \mathbf{m}_2\|}{\|\mathbf{x}_o - \mathbf{m}_1\| + \|\mathbf{x}_o - \mathbf{m}_2\|}$, and we have $0 < \lambda_o < 1$. This proves the inclusion $M_{\mathbf{Y}, \mathbf{X}} \subset [\mathbf{m}_1, \mathbf{m}_2]$. Let

$$\mathbf{x} = \lambda \mathbf{m}_1 + (1 - \lambda)\mathbf{m}_2, \qquad 0 < \lambda < \lambda_0$$

and we show that $x \in M_{Y,X}$. (The case $\lambda_o < \lambda < 1$ is similar.) Let $y \in Y$ be such that

(6)
$$\|y-m_1\| \le \|x-m_1\| = (1 - \lambda) \|m_1 - m_2\|$$

(7)
$$\|y-m_2\| \le \|x-m_2\| = \lambda \|m_1-m_2\|$$

Then in both (6) and (7) we have equality, since otherwise $\|y-m_1\| + \|y-m_2\| < \|m_1-m_2\|$ which is impossible. Therefore

- 410 -

(8)
$$\|y-m_1\| = (1 - \lambda) \|m_1 - m_2\|$$

$$(9) \qquad ||\mathbf{y}-\mathbf{m}_{\mathbf{y}}|| = \lambda ||\mathbf{m}_{\mathbf{y}}-\mathbf{m}_{\mathbf{y}}||$$

Let

(10)
$$u = \frac{1-\lambda_0}{1-\lambda}y + (1-\frac{1-\lambda_0}{1-\lambda})m_1$$

Note that by our assumptions on λ we have $0 < \frac{1-\lambda_0}{1-\lambda} < 1$. Hence using (10),(8),(9) and (5) we obtain:

 $\|u-m_1\| = \|x_0-m_1\|$ $\|u-m_2\| \le \|x_0-m_2\|$

Since $x_0 \in M_{Y,X}$ we have $u = x_0$, whence by (10) and (5) we obtain $y = \lambda m_1 + (1 - \lambda)m_2 = x$, that is $x \in M_{Y,X}$. This completes the proof of (3).

We show now that $M_{Y,X} = [m_1,m_2]$ if and only if $\frac{m_1-m_2}{\|m_1-m_2\|} \in \mathbb{R} B_Y(0,1)$. In order to show the "if" part, by Remark 1 a) we can suppose $\|m_1-m_2\| = 1$, and by the above claim, it is enough to show that $x = \frac{m_1+m_2}{2} \in M_{Y,X}$. Let $y \in Y$ be such that $\|y-m_1\| \leq \|x-m_1\| = \frac{1}{2}$, i=1,2. Then as in the proof of the claim $\|y-m_1\| = \frac{1}{2}$, i=1,2. Let $y_1 = 2(m_1-y) \in Y$ and $y_2 = 2(y-m_2) \in \mathbb{C} Y$. We have $\|y_1\| = 1$, i=1,2, and $m_1-m_2 = \frac{y_1+y_2}{2}$. Since $m_1-m_2 \in \mathbb{R} B_Y(0,1)$, it follows $y_1=m_1-m_2$, and so $y = \frac{m_1+m_2}{2} = x$, that is $x \in M_{Y,X}$. Conversely, suppose that for $m_1,m_2 \in Y$ with $\|m_1-m_2\| = 1$ we have $M_{Y,X} = [m_1,m_2]$ and let $m_1-m_2 = \frac{y_1+y_2}{2}$, $y_1 \in Y$, $\|y_1\| = 1$, i=1,2. Let $y = \frac{y_1}{2} + m_2$. We have $\|y-m_1\| = \frac{1}{2} = 1$. $y = \frac{m_1 + m_2}{2}$, which implies $y_1 = y_2 = m_1 - m_2$, and so $m_1 - m_2 \in \epsilon$ $\epsilon \in B_y(0,1)$. This completes the proof of the theorem.

<u>Remark 3</u>. When X is not strictly convex, there exists a closed linear subspace Y C X such that $M_{X,X} \neq M_{Y,X}$ for some $M = \{m_1, m_2\}, m_1, m_2 \in Y, m_1 \neq m_2$. Indeed, when X is not strictly convex, there exists meX, $\|m\| = 1$, m¢ ex $B_X(0,1)$. Let Y = sp {m} and M = {0,m}. By Theorem 1 we have $M_{X,X} = \{0,m\}$ and $M_{Y,X} = [0,m]$.

By Theorem 1 we know that in general for a set $M \subset Y$ we have not $\overline{co} \ M \subset M_{Y,X}$, where $\overline{co} \ M$ denotes the closed convex hull of M. However, for some special subsets $M \subset Y$ we have the above inclusion. This will be a consequence of Remark 4 below and Remark 2. Note that if X is a Hilbert space, then this is always true as follows by Proposition 4 of [2] and Remark 2.

<u>Remark 4</u>. Let X be a normed linear space and let M be the boundary of a bounded, closed, convex body of X. Then $\overline{co} \ M \subseteq M_{X,X}$. Indeed, since $M \subseteq M_{X,X}$, let $x \in (\overline{co} \ M) \setminus M$, and suppose there exists $y \in X$, $y \neq x$, such that $\|y-m\| \le \|x-m\|$ for each $m \in M$. Since $x \in Int$ ($\overline{co} \ M$), there exists $\Lambda > 1$ such that $m = \lambda \ x+(1 - \lambda)y \in M$. Then $\|y-m\| = \lambda \|x-y\| \le \|x-m\| =$ $= (\lambda -1) \|x-y\|$, which is impossible. Therefore $x \in M_{X,X}$. In particular, for each normed linear space X, we have $B_X(0,1) \subset$ $C (bd B_X(0,1))_{X,X}$, where bd $B_X(0,1) = \{x \in X: \|x\| = 1\}$. One can also show that if X is a normed linear space, then for each bounded convex body M C X we have $X = (X \setminus M)_{X,X}$.

Let X* be the dual space of X. We recall (see e.g.,

[4]) that in a normed linear space X a point $\mathbf{x} \in X$, $\|\mathbf{x}\| = 1$ is called a <u>smooth point</u> of $B_X(0,1)$, if there exists a unique $\mathbf{x}_X^* \in X^*$, $\|\mathbf{x}_X^*\| = 1$ such that $\mathbf{x}_X^*(\mathbf{x}) = \|\mathbf{x}\|$. We denote by sm $B_X(0,1)$ the set of all smooth points of $B_X(0,1)$. The normed linear space X is called <u>smooth</u> if each $\mathbf{x} \in X$, $\|\mathbf{x}\| = 1$ is a smooth point of $B_Y(0,1)$.

In Proposition 5 of [2], B. Beauzamy and B. Maurey proved the following result: Let X be a reflexive, strictly convex and smooth Banach space and Y a closed linear subspace of X. If $Y_{X,X} = Y$ then there exists a (unique) linear projection $P:X \rightarrow Y$, ||P|| = 1. They also noted that the existence of a norm one linear projection P of X onto Y implies $Y_{X,X} = Y$. We shall also give a necessary and sufficient condition for the existence of a norm one projection of X onto Y, weakening the conditions on X (requiring only the smoothness of X) but strengthening the condition $Y_{X,X} = Y$. To prove our result we need Lemma 2 of [2]. Since the proof of this lemma does not use the completeness of the space X we state it in a normed linear space.

Lemma ([2], Lemma 2). Let X be a normed linear space, Y a closed linear subspace of X and $x_1, x_2 \in X$, such that $|| x_1-y || \le || x_2-y ||$ for each $y \in Y$. Then $x_y^{\texttt{H}}(x_1-x_2) = 0$ for each $y \in Y \setminus \{0\}, \frac{y}{||y||} \in \text{sm } B_X(0,1).$

<u>Theorem 2</u>. Let X be a normed linear space and Y a closed linear subspace of X. A necessary, and if bd $B_Y(0,1) \subset$ $\subset \text{sm } B_X(0,1)$ also sufficient condition for the existence of a norm one linear projection P of X onto Y, is that $Y_{Y,X} = Y$. If bd $B_Y(0,1) \subset \text{sm } B_X(0,1)$, then there exists at most one norm

- 413 -

one linear projection of X onto Y.

<u>Proof</u>. Clearly, if there exists a linear projection P:X \rightarrow Y, ||P|| = 1, then for each $x \in X \setminus Y$ and each $y \in Y$ we have $||P(x)-y|| = ||P(x-y)|| \le ||x-y||$, which shows that $x \notin Y_{Y,X}$. Therefore $Y_{Y,X} \subset Y$ and by Remark 1 c) it follows $Y_{Y,X} = Y$.

Suppose now that bd $B_{Y}(0,1) \subset sm B_{X}(0,1)$ and $Y_{Y,X} = Y$. Then for each $x \in X$ we have

(11)
$$\gamma_{f} \in Y^{B_{Y}}(y, ||x-y||) \neq \emptyset$$

We claim that the left hand side of (11) contains exactly one element. Indeed, let $y_1, y_2 \in \bigcap_{y \in Y} B_Y(y, || x-y ||)$ and suppose that $y_0 = y_1 - y_2 \neq 0$. Then for i=1,2 we have

∥y_i-y∥≤∥x-y∥ for all y∈Y

whence by the above Lemma we obtain

$$x_{y_0}^{*}(y_i-x) = 0$$
 (i=1,2)

Then $\|y_0\| = x_{y_0}^*(y_0) = x_{y_0}^*(y_1-y_2) = 0$, a contradiction. Therefore for each $x \in X$, $y_0 \in y^B Y(y, \|x-y\|)$ is a singleton and we denote it by P(x). We show now that $P:X \rightarrow Y$ defined as above is a norm one linear projection. Clearly $P^2 = P$. Let now $\lambda \in \mathbb{R}$ and $x \in X$. Since for $\lambda = 0$ we have $P(\lambda x) = \lambda P(x)$, suppose $\lambda \neq 0$. Then $\|P(\lambda x) - y\| \leq \|\lambda x - y\|$ for each $y \in Y$ and so $\|\frac{P(\lambda x)}{\lambda} - y\| \leq \|x - y\|$ for each $y \in Y$. Therefore $P(x) = \frac{P(\lambda x)}{\lambda}$ whence $P(\lambda x) = \lambda P(x)$. Let now $x_1, x_2 \in X$ and suppose that $y_0 = P(x_1+x_2)-P(x_1)-P(x_2) \neq 0$. We have $\|P(x_1+x_2)-y\| \leq \|x_1+x_2-y\|$ for all $y \in Y$

$$\|P(x_i)-y\| \le \|x_i-y\| \qquad \text{for all } y \in Y, i=1,2$$

- 414 -

By Lemma we obtain

 $x_{y_{0}}^{*}(x_{1}+x_{2}-P(x_{1}+x_{2})) = 0$ $x_{y_{0}}^{*}(x_{1}-P(x_{1})) = 0$ (i=1,2)

Hence $||y_0|| = x_{y_0}^* (y_0) = 0$, a contradiction. Finally, $||P(x)|| \le \le ||x||$ for each $x \in X$ follows by the fact that P(x) belongs to the left hand side of (11). Therefore P is a norm one linear projection of X onto Y.

To complete the proof of the theorem, let us suppose bd $B_{\chi}(0,1) \subset sm B_{\chi}(0,1)$. If P is a norm one projection of X onto Y, then by the above, for each $x \in X$, P(x) belongs to the left hand side of (11) which is a singleton. Therefore there exists at most one linear projection $P:X \longrightarrow Y$, $\|P\| = 1$.

Let E be a normed linear space and E^* , E^{**} , E^{***} , E^{***} , and $E^{(4)}$ the successive dual spaces. We shall consider E (respectively E^{**}) as a subspace of E^{**} (respectively of $E^{(4)}$) by the natural embedding of E into E^{**} (respectively E^{**} into $E^{(4)}$). When $X = E^{**}$ and Y = E then for each nonempty subset $M \subset E$ we shall denote MIN $M = M_{Y,X} (= M_{E,E^{**}})$ and min $M = M_{Y,Y}$ (= $M_{E,E}$).

F. Sullivan [5] called a Banach space E <u>very smooth</u> if bd $B_E(0,1) \subset sm B_{R**}(0,1)$. Examples of non-reflexive very smooth spaces as well as some properties of very smooth spaces are given in [5]. An immediate consequence of Theorem 2 is:

<u>Corollary</u>. Let E be a very smooth Banach space. There exists a linear projection $P:E^{**} \longrightarrow E$, ||P|| = 1, if and only if MIN E = E. Moreover, this projection is unique.

- 415 -

We recall [2] that a set $M \subset E$ is called <u>optimal</u> if min M = M.

<u>Remark 5</u>. If E is a Banach space such that MIN E = E, then E is an optimal subspace of E^{**} . Indeed, this follows by Remark 2, formula (2).

<u>Proposition 1</u>. Let M be a nonempty subset of the normed linear space E, such that MIN M is optimal in E^{**} . Then there exists a unique, maximal closed subset $\widetilde{M} \subset E$ such that $M \subset \widetilde{M}$ and MIN M = MIN \widetilde{M} .

<u>Proof.</u> Let \mathcal{M} be the collection of all subsets $A \subset E$ such that MIN A = MIN M. Then \mathcal{M} is nonempty since $M \in \mathcal{M}$. Let $\widetilde{M} = \overbrace{\mathcal{M} \in \mathcal{M}}^{\mathcal{M}} A$. Since $M \subset \widetilde{M}$, by Remark 1 c) we have MIN $M \subset$ c MIN \widetilde{M} . On the other hand, for each $A \in \mathcal{M}$ we have $A \subset MIN A =$ = MIN M and so $\underset{\mathcal{A} \in \mathcal{M}}{\mathcal{A} \subset MIN} M$. Hence, using Remark 1 c), it follows

(12)
$$\operatorname{MIN} \widetilde{M} = \operatorname{MIN} \overbrace{\mathcal{A} \in \mathcal{M}}^{\mathcal{A}} = \operatorname{MIN} \underset{\mathcal{A} \in \mathcal{M}}{\mathcal{A} \subset \operatorname{MIN}} (\operatorname{MIN} M)$$

Since E^{**} is a dual space, there exists a linear projection $P:E^{(4)} \longrightarrow E^{**}$, ||P|| = 1. By Theorem 2, Remark 1 c), Remark 2 formula (1), and the assumption on MIN M it follows MIN (MIN M) = min (MIN M) = MIN M, whence by (12) we have MIN $\tilde{M} \subset MIN M$, which completes the proof.

With a similar proof one can show:

<u>Proposition 2</u>. If M is a nonempty subset of a normed linear space E such that min M is optimal, then there exists a unique, maximal, closed subset $\widetilde{M} \subset E$ such that $M \subset \widetilde{M}$ and min M = min \widetilde{M} .

Remark 6. Let E be a normed linear space and m, m, e E,

$$\begin{split} & m_{1} \neq m_{2}. \text{ Then } M = [m_{1}, m_{2}] \text{ is optimal. Indeed, let } x \notin M \text{ and} \\ & \text{let } y = \lambda_{0}m_{2} + (1 - \lambda_{0})m_{1}, \text{ where } \lambda_{0} = \frac{\|x - m_{1}\|}{\|x - m_{1}\| + \||x - m_{2}\||} \text{ (since } \\ & 0 < \lambda_{0} < 1, \text{ we have } y \in M \text{ and so } y \neq x \text{). Then for } m \notin M, m = \\ & = \lambda m_{2} + (1 - \lambda)m_{1}, 0 \le \lambda \le 1, \text{ we have} \\ & \|y - m\| = |\lambda_{0} - \lambda| \|m_{1} - m_{2}\| = \left|\frac{\|x - m_{1}\| - \lambda\| x - m_{1}\| - \lambda\| x - m_{2}\|}{\|x - m_{1}\| + \|x - m_{2}\|}\right| \|m_{1} - \\ & - m_{2}\| \le \|(1 - \lambda)\| x - m_{1}\| - \lambda\| x - m_{2}\| \le \|(1 - \lambda)(x - m_{1}) - \\ & - \lambda(m_{2} - x)\| = \|x - (\lambda m_{2} + (1 - \lambda)m_{1})\| = \|x - m\| \end{split}$$

and so $x \notin \min M$. As a consequence of this result and Theorem 1, it follows that for $M = \{m_1, m_2\}$ we have always that min M (respectively MIN M) is optimal in E (respectively in E^{**}). Note that this is obviously true if $m_1 = m_2$.

We conclude this paper with a characterization of a strictly convex space using the notion "MIN". The proof of the "only if" part is essentially the same with the proof of Proposition 2 of [2].

<u>Theorem 3</u>. The normed linear space E is strictly convex if and only if for each nonempty subset $M \subset E$ and each $z^{**} \in E^{**}$ we have

(13)
$$(\bigcap_{m \in M} B_{E^{**}(m, \| z^{**} - m\|})) \cap MIN M \neq \emptyset$$

<u>Proof</u>. Suppose E strictly convex and let M be a nonempty subset of E. For each $z^{**} \in E^{**}$ we define a function on M by

$$f_{z \neq r}(\mathbf{m}) = \| z^{**} - \mathbf{m} \| \qquad (\mathbf{m} \in \mathbf{M})$$

As in the proof of [2], Proposition 2 one can show that the set $\{f_{z,\lambda*}\}_{z^{*+}\in E^{*+}}$ is inductive (for the usual ordering), and

- 417 -

if $z^{**} \in E^{**}$ is given, by Zorn's Lemma, there exists $x^{**} \in E^{**}$ such that $f_{x^{**}}$ is minimal (for the ordering), and $f_{x^{**}} \leq f_{z^{**}}$. Therefore

(14) $||x^{**} - m|| \le ||z^{**} - m||$ for each $m \in M$ If $x^{**} \le MIN M$ then by (14) it follows (13). If $x^{**} \notin MIN M$, there exists $x \in E$, $x + x^{**}$ such that $||x - m|| \le ||x^{**} - m||$ for each $m \in M$. Since $f_{x^{**}}$ is minimal we must have

(15) $\|x-m\| = \|x^{**} - m\|$ for each $m \in M$.

We show that $x \in \min M$. If not, there exists $y \in E$, $y \neq x$ such that $\|y-m\| \leq \|x-m\|$, for each $m \in M$, whence by (15) and the fact that $f_{x \neq x}$ is minimal, it follows

(16) $\|y-m\| = \|x-m\|$ for each meM.

Since E is strictly convex, by (16) and (15) we have for $m \in M$

 $\left\|\frac{x+y}{2} - m\right\| < \left\|\frac{x-m}{2}\right\| + \left\|\frac{y-m}{2}\right\| = \|x-m\| = \|x^{**} - m\|$

which contradicts the minimality of $f_{x^{**}}$. Therefore x6 min M and by Remark 2, formula (1) we have x6 MIN M, whence by (15) and (14) we get (13).

Conversely, suppose that for each M \in E and each $z^{**} \in E^{**}$ (13) holds and E is not strictly convex. Then, by Theorem 1 there exist $m_1, m_2 \in E$, $m_1 \neq m_2$ such that MIN $\{m_1, m_2\} = \{m_1, m_2\}$. Let $z^{**} = (m_1 + m_2)/2$. By hypothesis there exists $x^{**} \in MINtm_1, m_2$ } such that $\|x^{**} - m_1\| \in \|z^{**} - m_1\|$, i=1,2. Suppose $x^{**} = m_1$. Then $\|m_1 - m_2\| \leq \|z^{**} - m_2\| = \|(m_1 - m_2)/2\|$ which is impossible since $m_1 \neq m_2$. Therefore E is strictly convex, which completes the proof of the theorem.

- 418 -

References

- [1] B. BEAUZAMY: Note aux C.R.A.S. Paris, t 280, 17 mars 1975, pp. 717-720
- [2] B. BEAUZAMY et B. MAUREY: Points Minimaux et Ensembles Optimaux dans les Espaces de Banach, J. Functional Analysis 24(1977), 107-139
- [3] M.M. DAY: Normed Linear Spaces, Springer Verlag, Berlin-Göttingen-Heidelberg, 1958
- [4] G. KÖTHE: Topologische lineare Räume, I, Springer Verlag Berlin-Göttingen-Heidelberg, 1960
- [5] F. SULLIVAN: Geometrical properties determined by the higher duals of a Banach space, Illinois J. of Math. 21(1977), 315-331

Department of Mathematics INCREST Bdul Păcii 220, 77538 Bucharest

Romania

(Oblatum 5.11. 1979)

- 419 -